(C#Es BAE-B/iRAVE)

TR

spax 815
(15)

8:30
1865 (45)
9:15
#E{HEZE(10)
9:25
21RF (45)
10:10
#E{HEZE(15)
10:25
3kAF (45)
11:10
#E{HEZE(10)
11:20

A1xBF (45)

12:05
fae

(45)
12:50
L3

(45)
13:35

518 (45)
14:20

£{FEBRH( 5)
14:35

6k (45)14:50

RTHZ

A

k

7K /N

&

T

B R & % -85 0

A
AN

- F R R EETVTH]

1 8B 1 8B 11 B 1 8B 1 1B 1 8B
2 H - DM
21 B 2 1B 21 B 2 1B 21F | 21EF
2 H - DM
SEF | StkBF | SKHF | 3EF | KA | SR
2 H - DM IHYDE
AR | AREE | ARRER | ABEE | ke | BT
4 B
7N 2|
Sy sic Y ics Sy sic Sy sic S5 EF
X RYDS | £if- BB R - BB DR | R - BBIOFRE | £k - BB ORRM
FRRFA Ls 14135 114557 14:257 14:25 14:25
-5
= U”g;i—-m:m—
lll-'ﬁ e —t .
= oy OFEF | OFEF | 6%HE:
(s
@ EED
557 &8
F15:104 15:10 — 15:10— 15:10 —
rioz| IFYNDE | IRYDE | IRYDE
115:25T715:257 15:25 — 15:25— 15:25 —

TR ZTEE-RNNTEF

16:45




